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K £ ouT IN |TOTAL
Bol &ig 37 41 78
N KE 38 37 75
NI EBR 41 42 83
T8 == 38 40 78
£/ A 36 36 72
ReH E— 34 39 73
aH XK= 37 42 79
B FHEE 38 40 78
Aa B 43 4 84
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K 4 ouT IN [TOTAL
sk B 42 35 77
BEX #85 47 50 97
Bl X 41 46 87
BE K2 42 42 84
25 H— 36 43 79
BA R= 42 42 84
B xR 40 43 83
TR 43 4 84
BN EEF 47 43 90
IR HC 45 52 97
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K 4 ouT IN _ |TOTAL
BE E— 44 45 89
WH 15 41 41 82
Bl X5 44 44 88
& ES 48 50 98
FH E® 45 47 92
il B2 39 33 72
=S 37 44 81
ik &ih 40 41 81
ik BF 40 49 89
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K 4 ouT IN |TOTAL
BE X 37 43 80
EE &R— 37 42 79
¥ F— 39 41 80
BXK #F 43 39 82
FE BA 41 42 83
[FA % 36 39 75
=% 5 38 36 74
=l R 40 41 81
il FE 40 45 85
BEE BRK 47 43 920
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K & ouT IN [TOTAL
®E 5 45 35 80
ER 88 41 38 79
KR #3h 38 39 77
IZF BRE] 35 38 73
Bl {EX8 40 38 78
Tk BT 43 41 84
EO o 38 42 80
mpE EiE 36 40 76
TH HRF 37 38 75
Higz H=x 38 38 76
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K & ouT IN [TOTAL
aH = 39 39 78
XH ¥ 39 50 89
N jE— 41 43 84
£m B 41 42 83
R B 38 39 77
B RE 38 38 76
falR Hi— 39 44 83
B Bx 45 46 91
Bk BT 41 45 86
K0 2F 44 43 87
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el A 47 49 96 aH# # 41 38 79
#BR K 43 47 90 E5 FERK 35 37 72
K R 36 42 78 g ¥R 39 39 78
2H #K 47 41 88 ¥= EB 41 44 85
BE FE 44 44 88 BE &tz 42 39 81
iR /= 4 48 89 BA E= 40 43 83
& #Bx 44 42 86 NI ERE 35 35 70
fEE IE& 40 39 79 Fre X 42 43 85
ILAR =M 40 40 80 B BT 39 39 78
=t BXF 50 49 99 X5 REF 42 49 91
9 @ C 572 SJ 10 FEH 562 SJ
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B B 42 40 82 BK EA 39 41 80
EA {8 48 45 93 WA EE 39 42 81
FH &M 41 40 81
A+ B 36 50 86 Tl FE 40 39 79
T E— 40 41 81 S5 E— 37 41 78
Wi Eig 41 42 83 XHE 8A 39 42 81
nH Fh 40 43 83 P %®— 43 42 85
2@ 18 39 42 81 iR #h 40 44 84
B BT 40 a 81 ER £ 40 39 79
a2H DX 42 42 84 . 43 44 87
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0 IMNER KAt 42 42 84
0 =iE BX 38 36 74
0 e 1EBH 39 38 77
0 B Ak 39 50 89
0 e fE— 40 42 82
0 =B X 41 38 79
0 AR ESR 39 39 78
0 8 &5 45 45 90
0 ERKR JBF 38 42 80
0 L =iErF 44 41 85

WhsrlEh M—{REE




13 \FKH ( 546 S) 14 /HR™H ( 547 S]

K 4 ouT IN |TOTAL K £ ouT IN |TOTAL
KE REH 34 35 69 X XM 41 41 82
A E¥ 39 38 77 i B 37 37 74
At HE 41 46 87 ®wAR —B 40 41 81
AR BZ28 44 41 85 XxE Fith 39 38 77
K X 35 45 80 Hif —=% 40 42 82

AR 37 36 73 FEE F— 45 37 82
HH 52 40 40 80 plE FE= 38 39 77
N $REH 42 40 82 g E|A 36 41 77
afn M= 40 45 85 TE ER 39 40 79
T 42 44 86 AR FE 41 41 82
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BT %554 36 43 79 e Wi 42 44 86
i i 44 52 96 B 8 42 36 78
aH# &HH 43 43 86 EH#n 45 37 82

g K& 39 38 77
BE EE 44 42 86 BiE A 38 38 76
B A 36 37 73 ZH & 38 42 80
B2 #M{E 41 M 82 5 EE 36 37 73
B E&— 38 44 82 $BHA 36 37 73
58 EF 47 49 96 R Btk 48 48 96

ki % 39 39 78
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K 4 ouT IN |[TOTAL K 4 ouT IN |TOTAL
Al HiE 41 43 84 IEH —5% 40 40 80
WA Z— 44 43 87 A#EB &N 37 39 76
fhiE &5 40 42 82 AR — 39 37 76
R #E 41 41 82 BRES FLBA 40 42 82
TP B 47 47 94 B H1T 37 43 80
ARH FH 42 39 81 RE A 36 38 74
ZR £ 41 43 84 &R BA 38 36 74
=e & 43 47 90 Bl R 41 35 76
e BT 39 40 79 k¥ EET 42 44 86
=ik EXR 42 42 84 SE kLA 40 39 79
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FIER HRE 41 42 83 AR HE—A8 42 41 83
B#E IBA 39 39 78 EARE B 42 40 82
(A=IRES 44 45 89 e 38 40 78
Bl & 38 40 78 TE BE 43 44 87
A F- 36 38 74 Bk HE 40 41 81
Ml A 39 36 75 R IE—EB 40 38 78
25 f#h 42 38 80 =B X3 41 43 84
LT Bid 33 41 74 AR EE 39 39 78
%8 EXkF 37 38 75 B = 45 47 92
il IBEF 44 39 83 EAR FF 46 48 94
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KX EHI 40 43 83 0
AE FA 40 44 84 0
=R &5 45 43 88 0
g HE—H 47 49 96 0
Pk TS 43 43 86 0

HE & 43 42 85 0
Bl BE—ER 43 42 85 0
NI 38 M 79 0
R T 43 41 84 0
BRI RF 42 45 87 0
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=¥ I 45 38 83 &l EE 37 44 81
Bot BB 37 41 78 aiE E— 39 43 82
XH FE 43 48 91 Bt FIFE 45 50 95
B 8 38 39 77 =H 2 40 43 83
Mx BE— 39 43 82 S8 @l 46 42 88
2 IEH 42 44 86 BE BE 46 48 94
ik S8 43 43 86
ik A 42 45 87 ik HE 46 47 93
BK FH 43 41 84 R hsY 36 37 73
Fik FEF 39 49 88
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K 4 ouT IN |TOTAL K £ ouT IN |TOTAL
B EX 46 55 101 SR =4 37 41 78
=iE #E 46 45 91 B8 #T 37 4 78
ik £ 38 40 78 BT #ih 41 40 81
AR Fz 49 49 98 999
B 8 41 50 91 999
1=}y 7S 44 46 90 BE {&HH 35 37 72
5F 5 43 46 89 PN P 7 43 42 85
=F 2 44 50 94 2% E£E 37 44 81
BER & 47 43 90 999
BE BT 49 48 97 999
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Heh E1{Z 35 37 72 TH FfT 38 39 77
B SEFN 38 42 80 =y B 39 44 83
& 5 37 M 78 EfE EfOn—F | 40 36 76
B FEEE 37 41 78 FH/I %t 36 41 77
mE RE 41 44 85 Bal K& 50 44 94
TH B3 42 42 84 B OIFR 41 33 74
=H X5 40 43 83 BRE #1T 42 42 84
INE FEZ 42 39 81 INEA BAE 41 41 82

il BEF 44 44 88 L 46 44 90
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K & ouT IN |TOTAL K £ ouT IN |TOTAL
B #— 42 45 87 A1l 1E8A 38 38 76
NE —F 41 40 81 1T ¢ 4= 35 45 80

Rl & 46 42 88
XAR FHh 47 42 89 PN 44 42 86
Fig Eth 34 35 69 FH Mz 43 40 83
R AR 40 42 82 HEA ES 42 39 81
tEARE = 37 40 77 g #F 40 40 80
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BEE F— 34 37 71 B B 39 42 81
FER —{= 40 40 80 BIX B1E 43 43 86
=X 35 41 76 FiH —iF 38 35 73
B EA 38 43 81 A+ RABR 38 41 79
Bk = 38 36 74 =fE EX 45 46 91
L fiE 37 41 78 hngh AE 41 39 80
R ER— 37 40 77 A FX 42 38 80
AR #— 36 43 79 Bl 42 43 85
AR &= 40 38 78 Bl F= 39 38 77
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K 4 ouT IN [TOTAL
B 37 37 74
KE R 41 41 82
INth B— 39 43 82
el H— 45 46 91
=i HE 48 48 96
B0 E— 39 42 81
AN L 44 39 83
e R 36 39 75
i RK 41 49 90
it BF 42 47 89
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